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) 1. is a step-by-step method for solving a problem or doing a task.
(A) A construct (B) A recursion (C) An algorithm (D) An iteration
) 2. The construct tests a condition.
(A) decision (B) sequence (C) repetition (D) logical
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search for an unordered list of data elements.

(A) binary

(B) sequence

(C) sequential

(D) blind

) 5. is a process in which an algorithm calls itself.

(A) Recursion

(B) Iteration

(C) Searching

(D) Repetition
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) 7. Each element in a record is called
(B) an index

(B) a variable

©) .a field
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(D) a node

) 8. Which pointer can be used to mark the end of a linked list?

(A) head pointer

(B) NIL pointer
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(C) link pointer

(D) new pointer

After the search cur <— (*new).link list «— new

ncw new new
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list list list
pre cur pre cur pre cur

(A) Deleting the first node.

(B) Inserting a node in the middle of a linked list.

(C) Inserting a node at the beginning of a linked list.

(D) Inserting a node at the end of a linked list.

(A) current (B) cure (C) currency (D) curve
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) 11. is a declarative language used on relational databases.
(A) DBMS (B) SQL (C) ERM (D) IMS
) 12. The level of a three-level DBMS architecture defines the logical view
of the data.
(A) external (B) conceptual (C) internal (D) physical
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Using the insertion sort algorithm, manually sort the following list and draw a picture to show
your work in each pass: 14, 7, 13, 3.
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Given the inputs X=420 and Y=770, the output of the following algorithm magic is
Input 2 integers (X and Y)
IfX<Y
Return magic(Y, X)
Else if Y equals 0
Return X
Else
Return magic(Y, X %Y )
End if
End
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F(n) {
if( n <= 2) return 1;
else return F(n-1) + F(n-2);
¥
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7. Assume that we have stored the two-dimensional array students[1..100][1..5] in memory. The
array is 100 x 5 (100 rows and 5 columns). Assume that the element student[1][1] is stored in
the memory location with address 1023 and each element occupies four memory locations. The
computer uses row-major storage. What is the address of the element students[5][3]?

8. Draw a diagram to show a linked list in which the data part is a student record with three fields:
id, name, and grade.

9. What would happen if we apply the following statements to the following linked list?
cur <—(*cur).link; pre <(*pre).link;

pre cur

10. @ 3 traversing a linked list ?

11. Of the various database models, the model is the most popular today.

12. The following relation is not in First Normal Form(1NF). Please change the table to make it
pass 1NF criteria.

PNO | Pname | Available colors | City | Weight

1 Nut Red, blue, green Paris | 5
2 Bolt Orange NYC | 6

13. You have two relations CIS15-Roster and CIS52-Roster as shown in follows. If you apply the
following SQL statements:




you will get the resulting relation as shown in follows.

CIS15-Roster
SQL Command CIS52-Roster
Student-ID F-Name L-Name Student-ID F-Name L-Name
145-67-6754 | John Brown A ? | 145676754 | Tohn Brown
232-56-5690 George Yellow > < 232-56-5690 George Yellow
345-89-6580 A G
e reen 342889999 | Rich White
459-98-6789 Ted Purple

Y

Student-ID F-Name L-Name

145-67-6754 John Brown
232-56-5690 George Yellow

14. Please write a sequence of SQL statements to answer each of the following questions about
parts and their manufacturers in terms of the following database:

PART relation MANUFACTURER relation
PartName Weight CompanyName PartName Cost
Bolt2X 1 Company X Bolt2Z .03
Bolt2Z 0.5 Company X NutV5 .01
NutV5 0.5 Company Y Bolt2X .02
Company Y NutV5 .01
Company Y Bolt2Z .04
Company Z NutV5 .01

(a) Obtain a list of the parts (PartName) with weight 0.5.

(b) Obtain a list of the parts (PartName, Cost) which are made by Company Y and with cost
less than 0.03.

(c) Change the name of "Company Y" to "Company W".




